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[ Physics : SectionoA (Q No. 1 to:35): |

{1t

Y

=L

: N,
1 Inan ideal transformer, the turns ratio js —2 = 5
S
V18 equal to (the symbols carry
al meaning) :

The ratio I/
their

2:1 2) 1:1

3) 1:4 @ 1:2

2 A tightly wound 100 turns coil of radius
10 em carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take -
permeability of free space as dnx10~7 Sl units):
(1) 44T ) A4 mT
3) 4471 44 mT

3

In a uniform magnetic field 0f'0.049 T, a magnetic

needle performs 20 complete oscillations in'
5 seconds as shown. The moment of inertia of the '
needle is 9.8 x 10-6 kg m2, If the magnitude of:

magnetic moment of the needle isx x 1075 Am?2; .
then the value of ‘x’ is :

) 50x2
4) 5n?

A thin flat circular disc of radius 4.5 cm is placed
gently over the surface of water. If surface tension
of water is 0.07 Nm~1, then the excess force
required to take it away from the surface is :

(I) 198N (2) 1.98mN

(3) 99N (4) 19.8mN

1280 72

3)

A wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction shown, which one of
the following options is correct (P and Q are any
~ highest and lowest
respectively)?

points on the wheel,

@ v Ity Y
Point P moves faster than point O.

(1
(2) * Both the points P and Q move with equal
speed. *

A}
(3) Pomnt P has zero speed.
Mt P moves slower than point Q.

R6_Hindi+English ]

[T

| % ol giawn ¥ S @ e

N Citn: T Ty
‘B o

Ni = ¥l orgur VS.VPWW%?(WW
vl aref g fpom mar B)
(nH 2:1 2) 1:1
(3) 1:4 4) 1:2

2 10 Ay Broan & et fray IOOWWWM
A yenfea arer 7 A ¥ 1 grEenr %WWW‘Q%—;{W
afvemor ¥ (R %, Prafa @ gremsfierar = 4n.1~7
SI #r3rep) -
(1) 44T (2) 4.4mT
3) 44T (4) 44 mT

3 0.049 T & T uebera™ graehid &1 & % grargig

5 e 20 et gof e ¥ (R 195 ey
et 9.8 x 1(r6kgm2%nw%g-s?mr§m%aamgf
B ARATT x x 1075 Am2 2 & “x” &7 7797 &

Waﬁwwzﬁ%%mﬁmw%w&}wﬁrww
m0.07Nm—1ﬁﬁmWﬁméwaﬂ%
" % T smavasw s ww &
(1) 198N 2)
(3) 99N @

T AT A ARl Rst SITER O S wes 9T
Tedh &1 ¥ 13l s v e & Tee Ydw A v
< Frafafed & ¥ o @ e w2 (T 9T P 3l
L Qﬂ?‘{ﬂ:ﬁé ST T gAaH fig ¥ )

1.98 mN
19.8 mN

-~ C‘?_
B AL QLR ASK 4T AP
228
130 =
*AAA [0 "{2;.—_?,,
) %R%Q%%ﬁﬁ%m(
@) g P Qe aw d it gy €0
(3) fag P o om g4 ¥ A

@) Rrgp frg 0@ 9t Thr =
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If x= SSm(m + 3—) m represents the motion of a
particle executing simple harmonic motion, the

amplitude and time period of motjon, respectively.
are : ' ' ,

(1) Sm,2s
3) Sm,1s

(2) 5em,1s
4 S5cm,2s

A bob is whirled in a horizontal plane by means
of a string with an initial speed of ® rpm. The
tension in the string is 7. If speed becomes 2

while keeping the same radius, the tension in the

string becomes :

7
(1) 4T @ L
YL @ T

©

A wire of length ‘/ and resistance 100Q is

divided into 10 equal parts. The first 5 parts are
connected in series while the next 5 parts are
connected in parallel. The two combinations are
again connected in series. The resistance of this

\‘f;a}}mm\-lation is: : alE. @"‘9
52Q 2) 55Q

(3) 60Q “4) 26Q

16
¥ 0

A logic circuit provides the output Y as per the

following truth table : ,
2
C )

O

»—-v-too:lk
'—'O'_‘ow

o = o =~

The expression for the output Yis :

(1) AB+A4 @ B
4 N
~ (4 4B +4
g 7

3 B
The quantities which have the same dimensions

as those of solid angle are : Az
(1) stress and angle /%r
w .

2) ain and arc
\_ga/::gular speed and stress

(4) strain and angle

R6_Hindi+English ]

6

(1) 5m,2s

FERAL S Sk |
2\ '9% tf:b

afx x=53in(m + -:;-C-Jm T T 1R B FU D

w97 Y Tifer by sraffa e ¥, ifer @ s o aed
I HHIT: B

(2) Sem,1s

3) 5m,1s (4) 5cm,2s

U T o ST & vt oot F g9 v JHTn e ¥
1 gaa yrehsim arer o rpm ¥ 150 Y 7 T 1aR
Brear & g st T 20 @ S B a2

A B

BT S O

(1) 47 r
 :‘(_) AT ) r
T

P g 100 Q FRE ¥ T A F 10 3T
- AT & ferifora foman e ¥ 1 wew 5 |El @ Sofee &

aenena‘;’r 5 AT B FER HH H et T 1 &
o GRSl F SiveT T 31 39 Shw wae

. (3).60Q

o1 wfere ®:
() 520 2 55
@) 260

- o =~ ol

* frfa ¥ 3 fog o &

i @3) B @

10

(2) fepla qun @@
(4) fapfaam@mr

(1) 4B+4 (@ B

e i R feme e o & e E
(1); SR e T __

(3) i T qun widEw g

29 &
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11 A thin spherical shell is charged by some source. | 11 Ueh qeel ‘ilﬁi'q BIar fopet eﬁaam ST &m‘”ﬁn
The potential difference between the two points ¥ 1yafdfer fersr o6 arpaTe & frga C?f%%ﬁ%
Cand P (in 1) shown in the figure is: (avee ®) ¥ ' Vil
(Take =9x10” 81 units) (R % ——=9x10° STam &)
4n €0 41t & 0
X
P &
P
X )
X X
w x
AN
| 3+
P>
g=1pC
(M 1 : (2) 0.5x 105 (1) 1x105 (2) 0.5x10°
3 (3> zero 4) 3x105 3) = 4 3x10°
12 Match List-I with List-IT.
List-I List-11 | 12 - g T @ T & e i
(Material) (Susceptibility (%)) TR Th I
A. Diamagnetic L. x=0 (ad) & -1
B. Ferromagnetic I 0>y>-1 A. virgeE L %=0
- W >
C. Paramagnetic Iy >>1 AL L 0>x=-1
T ; 1
D. Non-magnetic IV. 0<y <& (asmall C . ML >>
positive number) D. sgEey IV. 0<y <€ (wpgs
Choose the correct answer from the options given AT 9&-0) -~
below: e e T Rt & w st 9P
(1) A-II, B-I, C-II, D-IV (1) A-II, B-I, C-III, D-IV
(2) A-IL, B-II, C-I, D-IV (2) A-II, B-1I, C-L, D-IV
3) , B-1II, C-II, D-I (3) A-IV, B-IIL, C-II, D-I
\_,(A')/:}’IV,, B-1II, C-IV, D-I " (4) ; A-IL, B-III, C-1V, D1
13 Match List I with List II. 13 AT w1 g 11 Prem i
v\ List I List IT @ T I
(Spectral Lines of (Wavelengths (nm)). (Preifias = & (7=t (nm))
o g | e % fre TR
transitions from) .
= B rad)
= = . 410.2
A. ny 3to n 2 l A, Ny = 3 _% n = 2 L 4102
B. Ny = 4 to np = 2 I1. 434.1 B. ny = 49 n = 2 11. 434.1
C. m=5ton=2 11 | 656.3 C. m=5aAnm=2 L. 656.3
D. m=6ton=2 IV. 486.1 D. ny=6an=2 IV. 486.1
Choose the correct answer from the optio)r-ls given S R T P @ WA SR T{h‘l
below : yle', -—_l (1) , A-111, B-1V, C-11, D-I ¥
(1) A-IIL, B-1V, C-II, D-I }f 9 B % Em o o
(2) A-1V, B-lII, C-1, D-II G): AL BALCAL DIV
(3) A-IL B-I, C-11I, D-IV (4) AL B-L C-IV. DI . -
(4) A-IIS B-Is C-IV’ D-III ’ ? !
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14  Given below are two statements :

Statement I : Atoms are electrically neutral as

they contain equal number of positive and

negative charges. -

Statement II : Atoms of each element are stable

and emit their characteristic spectrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

@) Both Statement I and Statement Il are
in ct.

tatement I is correct but Statement II is

incorrect. -

(3) Statement I is incorrect but Statement 11 is
correct.

(4) Both Statement I and Statement II are
correct.

15 Anunpolarised light beam strikes a glass surface
at Brewster’s angle. Then
(1) the refracted light will be completely
polarised.
(2) both the reflected and refracted light will be

completely polarised.

Meﬂected light will be completely
polarised but the refracted light will be
partially polarised.

(4) thereflected light will be partially polarised.

' 1
16  The graph which shows the variation of ('/1—2)

and its kinetic energy, E is (Where J is de Broglie
wavelength of a free particle) :

">

¢ 2) 32

2z
1
o

= 1
3) 2 @ 5 f
Ll E 5 E

17 A particle moving with@n acircular

path maintains :
constant acceleration.

(2) constant velocity but varying acceleration.
(3) varying velocity and varying acceleration.

13 .—_—————'————_'
(4) constant velocity.

R6_Hindi+English ] A\
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Jm¥—

A Q& wor fy o 3

He 1 ¢ oy Ay Jadie ey ¥ =R 3 ga
YEAT N LA qT HOTEE AT B &

F 11 2 9AF ot & I T BN § qAn s
aifiremefire Wezg st v ¥

IUAFRT HUA &% amare a7, Jra ¥y m famedt F &
mqﬁlﬁmgﬁm:

(1) wa= 19 &g 11291 Taa &1

2) wu 1 aér & aig ®a= [ T &1

(3) @u | 7Tera ¥ wig AT 1 TEr 2

(4) @u 19 %a 113 ady ¥

uw ayRra webTeT gor Red g @Y Tae 9T TR B0

R THAT 31 99:

(1) 3rafde gl gura: g sl

(2) [ yrafia o sqafiia gerer gura: g srmi

(3) wREfda yeIeT QUia: giad uig Suafia q@ien
arifyres ggfera grm)

(4) wEfia weteT i g g

1
ﬁwﬁﬂaﬁ'ﬁmm (1 st*aﬁ*ri%m&af (E)

% ufaci @Y qeTfar & (GIBT A U & ST &I ST Fiell
qorRe ®) ¢

1 1
M T\ @ =
1 . 7 .

(o] o]
1 1
@) 2z @ 35
T . - .

TS JAIHI GY G THEA AT | RO T B9 S
TEAT R : :

(1) foraa @

(2) fraa A gtg ufkat @
3) qﬁaﬁ&w@qﬁaﬁiw
4) Fmaam

_Cbnfd...
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If ¢ is the velocity of light in free space, the correct
statements about photon among the following
are :

A.  The energy of a photon is £ =hv.

B.  The velocity of a photon is c.

v
C.  The momentum of a photon, p = —h——

. c

D. In a photon-electron collision, both total

energy and total momentum are conserved.
E.  Photon possesses positive charge.
Choose the correct answer from the options given
below :
(1) A,B,CandD only
(2) A,CandD only
(3) A.B,DandE only
(4) AandBonly

2 i3 - =
20y £ 37l _yp-< \p
In the nuclear emission stated above, the mass
number and atomic number of the product Q

respectively, are : '
(1) 286,80 (2) 288,82
(3) 286,81 (4) 280, 81

In the followingcircuit, the equivalent capacitance
between terminal 4 and terminal Bis :
2 uF 2uF
Ll 1}
=
I it
2puF 2pF
1pF 2) 0.5pF
(3) 4pF 4) 2pF

The terminal voltage of the battery, whose emf is
10V and internal resistance 1 Q, when connected
through an external resistance of 4 Q as shown

in the figure is :
40

A AA
V'V

LAY

‘_ol B

Ao—]

(1) 6V "
3) |
If the monochromatic source in Young’s double

i ime .
i e?t(l?:rré will be a central dark fringe surrounded

few coloured fringes. . '
31),6?6 will be a central bright white fringe
surrounded by a few coloured fringes.
all bright fringes will be of equal width.

interference pattern will disappear.

(2)

(3)
4

/

#®

nt is replaced by white light, then

18

19

20

21

22

- (3) 286, 81

afy THT H THIT BT AT ¢ ¥, By

ﬁmﬁ?fgaﬁvﬁmm%: il it %%"1

A WAt E=mv ¥ T :

B. ®r & AT ¢ ¥

C mﬁmdéﬂp=fc—"%l

D. wer-gtazr duz ¥, 3 G Sl T Gt gy
wefara e

E. e 9T 991 a9 gt 1

Prefafaa famedl & @él sat gig:

(1) %aa A,B,CaD )

(2) waa A,CaD

(3) &waw A,B,DIE

(4) %aa AT B

-+

@,y ¢ sz £ sp° ;9

290
g2 X

. YT AP ST & [T ST O Bl 5q9T Gy

T UTHTY I HA: 5

(1) 286, 80 (2) 288,82

4) 280,81

PrefaRaa aRay & i 4 9 <hfva B & &9 g
qiar & :

I i
L1 _L 1]
Ao— 2uF ——o B
; T H—J
. 2uF 2uF ‘
(1) 1pF (2) 0.5pF
(3) 4pr 4 2pF 1

1Q onafe wiiy qor 10V frar. @ &t S0 & |
zﬁaﬁzh—&aw%msﬁ&mm 4Q S

wferder & st T &
a0

T o-====1m3
oy

1) 6V 2) 8V

8 10V @ ey

< i o e el e ¥ S

qﬂ’aﬁiﬁmﬁmws‘rfﬁ: Bore o

(2) BT Sl

(3) @ it st @ ST
(4) Rt g ST T
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A horizontal force 10 NV is applied to a block 4 as
shown in figure. The mass of blocks 4 and B are
2 kg al.1d 3 kg, respectively. The blocks slide over
a frictionless surface. The force exerted by block
A onblock Bis:
F=10N Y B
_— kg 3 kg
P77 7777777777777 7777777777777
(1) 4N (2) 6N
3) 10N 4) zero
A thermodynamic system is taken through the
cycle abeda. The work done by the gas along the
path bc is :
$
300 kPaf - - - £— B
W <™
100 kPaf - - - g—>——1b
10 400cm
V—>
(1) 30J 2) -%0J
(3) —60J (4) zero
The maximum elongation of a steel wire of 1 m
length if the elastic limit of steel and its Young’s
modulus, respectively, are 8 x 108 N m—2 and
2 x 10N Nm‘2 is :
(1) 0.4 mm (2) 40 mm
(3) 8mm (4) 4mm
The output (¥) of the given logic gate is similar
to the output of an/a : .
A—I
. Y
B
(1) NOR gate (2) OR gate
(3) AND gate (4) NAND gate
Two bodies A and B of same mass undergo
completely inelastic one dimensional collision.
The body A moves with velocity v; while body B
is at rest before collision. The velocity of the
system after collision is v,. The ratio v, : v, is :
(1 2:1 2) 4:1
3) 14 4) 1:2

23

24

25

26

27

yafdfar first v et A at 10 NV &Rt 7w srafta
fopar sran ¥ 1 gzt 4 @ B % geomam wEan: 2 e A
3 fbur ¥1 12 um aforehra qwr % Hux faaemd ¥
T A AT [ZeHT B T ST T AA

F=10N 3{‘1
5 2kg | 8

P 7777777777777 777777777 7777777
(1) 4N (2) 6N
3) 10N (4) 9=

T GRS P & Tsa 9BT abeda & AT
ST ¥ 1 be ug % s e @0 B B

P

300 kPa} - - - &——< ¢
\r 1
100 kPaf - - - 4g—>——1P
To0om®  a00em
r—>
(1) 307 (2 -9%0J
(3) —60J @) o=

1 o TS 3 T % AT B el bl TR ST T
BT TATEIAT OTidh hHT: 8 x 108 N m2 qar

2 x 1011 N m2% 4 39 aX & @18 & gha &
(1) 0.4 mm (2) 40 mm
(3) 8mm (4) 4 mm

A 1 wifre ufay @ frta (1) feas fria &
T

A—]
‘ Y

B

(1) NOR =z -(2) OR=

(3) AND7= (49) NANDI=T -

I FEm % a1 v A 9 B quiaan sy 7%
e Tz % ¥ g @ g fvs Ay @ i
W%wﬁﬁﬁwBﬁmﬁ%lm%wmm

&1 AT vy T 1 ST v) 1 v, & e
O @) 41
(3) 1:4 @ 1

[-:qunt'dl.'._
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Consider the following statements A and B and
identify the correct answer :

For a solar-cell, the 1-V characteristics lies
in the IV quadrant of the given graph.
B. In a reverse biased pn junction diode, the
current measured in (uA4), is due to majority
charge carriers.
A is incorrect but B is correct,
Both A and B are correct.
Both A and B are incorrect.
A is correct but B is incorrect.

(D
(2)

4)

il e

Solenoid - 1 ' Solenoid-2 -

In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that

in solenoid-2, respectively, are through the
directions: :

(1) B4andCD
(3) B4 and DC

(2) ABand CD
(4) ABand DC

Given below are two statements: one is labelled

as Assertion A and the other is- labelled as
Reason R. '

Assertion A : The potential (V) atany axial point,

at 2 m distance(r) from the centre of the dipole
o

of dipole moment vector p of magnitude,

4x105Cm,is +9x103 . '

1 9
(Take dne, =9x107 g units)

2P
Reason R : V=%
Aregr
distance of any axial point, situated at 2 m from
the centre of the dipole.

7 » Where r is the

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both A and R are true and R is NOT the
correct explanation of A,

(2) Aistrue but R is false,

(3) A s false but R is true. '

(4) Both A and R are true and R is the correct

explanation of A.
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Prafafiaa Howf A9 B 1 @6 T8 S gi,

A. WW*WFVWM%&T&W%
AN agater 7 B T

B. Sohd AU pn ST ST F apyy T

ST ATEDT &b BT (124) F A7k oy 3

A Terd ¥ wd BEd ¥

I+ Aa Bar Ei

gl A9 B Tad 1

A9 ¥ wd B a1

(D
2
3)
4

e

S e ¥ o diw vs grEw afenfen) @
Wﬁwﬁvwm—zﬁaﬁ'{wﬁraﬂ'@%lqﬁwﬁm—lﬁ
ﬁﬁﬁama%%snamqﬁ?ﬁm—zﬁaﬁamﬁ
feem swan: Rt # &
(1) BAwacCD
(3) BAwd DC.

(2) 4BwscD
(4) 4Bwd DC

HFEA ;4 x 10‘6Cmqﬁ-qm,%gaarqvf€ﬁ31

I3 T YT S I A 2N () e g AT
e +9x103 3y

Lo gornd
(@t aney 107 SInmm)

WR=V=i2\P,aﬁr,faga%amazm
47teor‘

B T 0T Rerat el g A oy g 21 .

SURNAR e o ST UR, i R T Forepet & Wy

ERES: LS _

(1) %:?AaRH@%amR,AﬁH@Wﬁ%I

(2) A& uTg R 7T ¥

(3) Avea ¥ g R uwé )

(4) I ATR T ¥ a1 R, A A | v
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At any mstant of time ¢, the displacement of any
particle is given by 27— 1 (Sl unit) under the
influence of force of 5N, The value of
instantancous power is (in ST unit):

(H 5 (2) 7
(3) 6 (4) 10

In a vernier calipers, (N + | ) divisions of vernier
scale coincide with N divisions of main scale. If

1 MSD represents 0.1 mm, the vernier constant
(incm)is:

, 1 .

Q) ‘—IOO(NH) (2) 100N

. ]
1I0(N+1 4) —

3 ( ) (4) T,

The moment of inertia of a thin rod about an axis
passing through its mid point and perpendicular

to the rod is 2400 g cm?. The length of the 400 g
rod is nearly :

(1) 17.5cm
(3) 72.0cm

(2) 20.7cm
(4) 8.5cm

A light ray enters through a right ahgled prism at

point P with the angle of incidence 30° as shown

in figure. It travels through the prism parallel to
its base BC and emerges along the face AC. The
refractive index of the prism is:

V5
4

3) (4)

The mass of a planet is 1—]-”‘ that of the earth and

its diameter is half that of the earth. The
acceleration due to gravity on that planet is :

(1) 9.8ms2 (2) 49ms2

(3) 3.92ms2 (4) 19.6ms2
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Physics : Section-B (Q. No. 36 to 50)

i aC netic
The property which is not of an electromag

wave travelling in free space 1S tl.ml : W is equal
(1) the energy density in electric fie :J ¢
to energy density in magnetic field.

l

36

/‘,‘_1-,_..:_—:_,_.———:
(2) theytravel with a speed equal 16 \/ll() eg

7 . i ith
they originate from charges moving wit

uniform speed.
(4) they are transverse in nature.

The velocity (v) — time (7) plot of the motion of a
body is shown below :

37

o>Vv(ms™)

1) —

The acceleration (a) — time (¢) graph that best suits
this motion is :

38

e
:
N
€y Ti ts)—
€ 0 |
) Io I O
(/)\ met?]llic bar of Young’s modulus
5 19 N m~2 and coefficient of linearthermal’
expansmr.) 105 oC-1, length 1 m and area of
crf)}sls-sectlon 103 m2 s heated from 0°C to 100°C
Without expansion or bending. The com ressive
force developed in jt is: P
(31) 50 x 103N (2) 100x103N
(B) 2x103N (4) 5x103N

If th .
increzsrzgsts of fhe .bob In a simple pendulum is
is made l(;fh“c? 'TS original mass and its length

alf'its origina length, then the new time

period Mogs . X
of oscillation 1S 3 times its original time

period. Thep the value of x is:
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40  Choose the correct circuit which ¢

_ an achieve the
bridge balance. ¢

m

| AN
)

Y

E X

41  Aforcedefinedby F =ou? + Bt acts on a particle
at a given time ¢. The factor which is
dimensionless, if o and B are constants, is:

Mm% @ opr
@) B/ @ P/

A parallel plate capacitor isccharged by connecting
it to a battery through a resistor. If I is the current
in the circuit, then in the gap between the plates :

(1) displacement current of magnitude equal to
ows in the same direction as 1.
S L displacement current of magnitude equal to

1 flows in a direction opposite to that of 1.
(3) displacement current of magnitude greater

than I flows but can be in any direction.
(4) there is no current.

42

43  Aniron bar of length L has magnetic moment M.

It is bent at the middle of its length such that the
two arms make an angle 60° with each other. The
magnetic moment of this new magnet is:

M
1 i,
(D S
J)’)/M—
V3
The minimum energy required to launch a satellite
of mass m from the surface of earth of mass M

and radius R in a circular orbit at an altitude of
2R from the surface of the earth is:,

2GmM GmM
3R @

GmM S5GmM
3R 6 R

2 2M
“4) M
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Ifthe plates of a parallel plate capacitor connected
to a battery are moved close to each other, then
A. the charge storéd in it. increases.

B. the energy stored in it, decreases.

C. its capacitance increases, .

D. the ratio of chai'gé to its potential remains the
. Same. NS

E. the product of charge and voltage increases.
Choose the most appropriate answer from the
Of)rmns given below:™

(1) A.CandEonly (2) B, Dand E only

(3) A.Band C only (4; A, B and E only

The following graph represents the T-V curves of
an ideal gas (where T is the temperature and V'
the volume) at thrée pressures 5’1. Py and P

compared with those of Charles’s law represente

as dotteldo lines.
/ )

V— . .
Then the correct relation is:

M AR>PR>P @) pr>R>p
3) R>P>p ;M>P2>ﬁ
Two heaters A and BEhave ower rating of 1 kW
and 2 kW, respectively. Those twogare first
connected in series'and then in parallel to a fixed
power source. The ratio of power outputs for these

two cases is: o
gl; 2:9 TE(2) 1:2
3) 2:3 ’éi‘:":g4; 1:1
A sheet is placed on a horizontal surface in front
of a strong magnetic pole. A force is needed to:
hold the sheet there if it is magnetic.
hold the sheet there if it is non-magnetic.
move the sheet away from the pole with
uniform velogity if it'is conducting.
D. move the sheef away from the pole with
uniform velocity if it is both, non-conducting
and non-polarss ' .
Choose the correct statement(s) from the options
iven below: S :
1) A and C only.} EZ A, C and D only
3) Conly . (4) BandDonly
A small telescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifying power of telescope for viewing
a distant object is:

1) 28 r €2; 17
A 10 pF capacitor isconnectedtoa 210 V, 50 Hz
source as shown in.figure. The peak current in

the circuit is nearly,(n=3.14): -
Hi= g

Owp
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